Question #41 / 50 

Solve for 
[image: image1.png]w—12=4



 , 

where [image: image2.png]


is a real number.
(If there is more than one solution, separate them with commas.)
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Solve the following equation for [image: image3.png]


: 

[image: image4.png]/w+6 =/5w+5



, 

where [image: image5.png]


is a real number.
(If there is more than one solution, separate them with commas.) 
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For the following right triangle, find the side length [image: image9.png]


 . Round your answer to the nearest tenth. 
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Compute the following: 

[image: image12.png]


. 
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Write the following expression in simplified radical form. 
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Find the roots of the quadratic equation: 

[image: image17.png]2
Y +5y+6=0



 . 

(If there is more than one root, separate them with commas.)
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Solve the equation 

[image: image18.png]275 —9z+29 = (z+1)°




for [image: image19.png]


 . 

(If there is more than one solution, separate them with commas.) 
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Solve [image: image23.png](x+4) -4 =




where [image: image24.png]


is a real number. 
Simplify your answer as much as possible. 

(If there is more than one solution, separate them with commas.) 
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Solve the following equation for [image: image28.png]


by using the quadratic formula: 

[image: image29.png]3’ —3x-4=0



 . 

(If there is more than one solution, separate them with commas.) 
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Graph the parabola: 

[image: image30.png]


 . 

To graph the parabola, plot the vertex and four additional points, two on each side of the vertex

I need all of the points you do not need to graph.
